1 2 3 ‘ 4
2
Vee DIS N_%ﬂ
20
| b RIOIK  po;
Pl SW1 2
X 20160 Vee . D] S R
> SW SPST s
Vavs
; _PI0 | b RAUIK  po3
5 — R23 20
CON5 cl 100K | o R2IK  pos
47pf
S1 GND Ul
—- P07 P00 37 40 PIO
POT 3¢ | P00 T2P1O |
SW-PB PO.1 T2EX/P1.1
P02 35 | pos b1 |42
= P03 34 | poy P 43
GND P04 33 | ooy Pla |4
P05 32 - 415
P0.5 P15
Vee Vcee P06 31 P0.6 PL6 2
4 RIIK & PO7__ 30 poy P17 |3
DlN P30 D9N RO 1K pyy b .
P20 18 5 P30
G SRl —
DZN R2 1K P31 DION R10 1K P26 P22 20 P2‘2 [W/sz 8 P32
P23 21 | b3 INTI/P33 |— 22
A A P24 22 : 3 790 P34
DN R 1K  p32 DIl RII 1K pos P25 23 g%-g %%Eg-g 11 P35
— ’I P26 24 | pya WRP3E | 12 P36
A P27 25 : D
D4ﬂ/ R4 1K p33 DIZ;H/‘ RI2 1K pyy P27 RD/P3.7
— Vee 38 17
<0 RS 1K 24 RI3 1K Ve pa) |28
DH P34 DBN —— P23 2 A INT3/P42 |30
. — 26 | PSEN INT2/P43
[ R6 1K p3s e RI4 1K 2| ALE 15 X1 X, 2] X0
D}I N E22 RST X1 a1
AN AN 24MHz
D7 R7 1K P36 D15 R15 1K P21 16 GND X0 14 X0 f— ) —CS5
N 30pf 30pf
S5 S5 STCSYC32RC-40CPQFP
D%I R8 1K P37 D16N R16 1K P20 )
= 1
GND =
GND
0
D17>I RI7TIK — pog
1 2 3 4




